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Government of Nova Scotia 

Nutrition Calculations 

The serving size listed on food packages is not always the same as the serving size given in the 

Food and Beverage Criteria. Some calculations may be required to determine if a packaged food fits 

the criteria. 

1. 	 Divide the serving from the criteria by the serving on the food label. 

2. 	 Multiply this number by the amount of the nutrient listed on the food label (ex. sodium, fat, 

sugar, etc.). This will give you the amount of the nutrient contained in the serving size listed 

on the Nutrient Criteria. 

3. 	 Compare this amount to the amount on the Nutrient Criteria. This will tell you if the packaged 

food fits the Nutrient Criteria. 

For example, below are the nutrition label for a vanilla yogurt and the Nutrient Criteria for Milk and 

Alternatives, and the calculations to see if this product fits the criteria for sodium: 

1. 175 g (from criteria) ÷ 100 g (from label) = 1.75 

2. 1.75 (from step 1) x 55mg sodium (from label) 

=96.3mg. So 96.3mg is the amount of sodium in a 175g 

serving of this vanilla yogurt. 

3. Yogurt must contain less than 140mg per 175g serving, 

according to the Nutrient Criteria. Because this yogurt 

contains 96.3mg of sodium per 175g serving, it fits the 

Nutrient Criteria for sodium. 

The same calculation is used to determine that this yogurt 

contains 22.75g of sugar per 175g serving. 


